
DETAIL A
 

(REMOVAL OF EXISTING FACTORY LIGHT DUTY BUMPER MOUNT)

GROSS LOAD CAPACITY WHEN USED AS A WEIGHT CARRYING HITCH:                LBS. TRAILER WEIGHT &             LBS. TONGUE WEIGHT.
 GROSS LOAD CAPACITY WHEN USED AS A WEIGHT DISTRIBUTION HITCH:              LBS. TRAILER WEIGHT &             LBS. TONGUE WEIGHT

  * * * DO NOT EXCEED VEHI CLE MANUFACTURER'S RECOM M EN DED T OWI NG CAPACITY .* * *
HAVING INSTALLATION QUESTIONS?  CALL TECHNICAL SUPPORT AT 1-877-287-8634

INSTALLATION STEPS

PERI ODICALLY CH ECK THI S RECEIV ER H ITCH TO EN SURE TH AT ALL FAST EN ERS
ARE TI GHT  AND T HAT  ALL ST RU CTU RAL COMPON EN TS ARE SOUND.

Curt Manufacturing LLC., warrants this product to be free of defects in material and/or workmanship at the time of retail purchase by the original purchaser.  If the product is found to be defective,
Curt Manufacturing LLC., may repair or replace the product, at their option, when the product is returned, prepaid, with proof of purchase.  Alteration to, misuse of, or improper installation of
this product voids the warranty.  Curt Manufacturing LLC.'s liability is limited to repair or replacement of products found to be defective, and specifically excludes liability for incidental or
consequential loss or damage.

 6,000 600
 10,000 1,000

CHEVROLET SILVERADO 1500
GMC SIERRA 1500

8/15/2013

13301

60

43

30

HITCH WEIGHT:         LBS.
 

INSTALL TIME
 

    PROFESSIONAL:        MINUTES
 

    NOVICE (DIY):         MINUTES
 

INSTALL NOTES: 

Parts List
DESCRIPTIONPART NUMBERQTYITEM

CARRIAGE BOLT1/2-13 x 1 3/441

.250 x 1.50 x 2.00" SQUARE HOLE SPACERCM-SP142

HEX FLANGE NUTHFN 121343

HEX BOLTM14-2 x 40mm LG.24

CONICAL TOOTHED WASHER9/16" CONICAL WASHER25

4

5

1

2

3

- NO DRILLING REQUIRED
 

- LOWER SPARE TIRE

1. Temporarily lower spare tire for ease of installation.
 

    Note: For 2014 and newer models go to Step 2. For prior years go to Step 3.
 

2. On 2014 and newer non-hitch equipped vehicles you will need to remove a factory light duty bumper mount hitch prior to hitch installation.
    Remove this light duty bumper hitch as follows (See Detail A);
     a.  Remove (2) M8 bolts connecting the center hitch tabs to the bumper and return to owner.
     b.  Remove (2) M14 x 80mm bolts and (2) M14 nuts that secure the hitch to the frame rails and return to owner.
     c.  Remove and retain (2) M14 x 45mm bolts that secure the rear of the hitch to the weldnuts in the frame rails.
     d.  Remove and retain (4) M12 nuts and (2) M12 x 40mm stud plates that secure the hitch to the side of the frame rails.
     e.  Remove the hitch and return to owner.
     f.   Re-install the stud plates and nuts removed in Step 2d and torque nuts to 52 ft-lbs.
 

3. If present, remove (1) M14 bumper bracket bolt from each frame rail (completed in Step 2c). Raise hitch into position by aligning
    the rear most holes in the hitch with the holes where the bumper bracket bolts were removed. Secure hitch using M14 bolts and
    9/16" conical toothed washers in existing weldnuts, as shown.
 

4. Install 1/2" carriage bolts, spacers, and flange nuts in remaining holes as shown.
 

5. Torque all 1/2" hardware to 110 ft-lbs. Torque all 14mm hardware to 103 ft-lbs.
 

6. Reinstall spare tire removed in Step 1.

DRIVER SIDE
FRAME RAIL

EXISTING WELDNUT
(BOTH SIDES)

EXISTING M12 NUT

EXISTING M14 NUT

BUMPER HITCH
(2014 AND NEWER

MODELS ONLY)

EXISTING M12 STUD PLATE

EXISTING M14 BOLT

EXISTING M8 BOLT

BUMPER SUPPORT
(BOTH SIDES)

PASSENGER SIDE
FRAME RAIL

TOOLS REQUIRED
RATCHET

TORQUE WRENCH
12" EXTENSION
3/4" WRENCH
3/4" SOCKET

22mm SOCKET


